versione O
Equazioni differenziali — 0

Xy [x]13
L yi2] =1},
1

DSol ve[{y' [X] =
X% -

yIx1, x|

DSolve::bvnul :
For some branches of the general solution, the given boundary conditions lead to an empty solution.
>

{{yma -

Solve[l+Log[3] -Log[-1+x*] =0, x]

[ rse} feofivse ]

Funzioni di due variabili, punticritici— 0

1

J1+Log(3] - Log[-1 +x?]

g[x_, t_]1:=5Log[t] -3x;

fIX_, y_1:=0[x, 1+x"2+y"2]; f[X, y]

Print [Expand [f [X, Y111;

grad = Expand [{oxf [x, y1, 8yf [x, Y1}];

Print [grad];

Print [Sol ve[grad == {0, 0}, {X, y}11;

Hix_, y_1 = {{8xxf [, Y1, 0xyf Ix, y1}, {8y xf X, y1, 8y yfIx, y1}}:
Print [Sinmplify[MtrixForm[H[X, y]1111;

-3x +5Log[1+x?+y?]

-3x +5Log[1+x%+y?]
(-3 J
1

{{Xag, yaO}, {x > 3, yeO}}

10 x 10y

l+x2+y2' 1+x2+y?

10 (-1+x2-y2) 20xy
N (1+><2+y2)2 N (1+x2+y2)2
20xy 10 (1+x2—y2)
T (1ex?y?)? (14x24y?)?

{MatrixForm[H[%, o]], Mat i xFor m[H[3, O]]}
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Pl ot 3D[f [X, Y], {X, 0, 2/3}, {y, -.3, .3}]
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Pl ot 3D[f [X, y]1, {X, -1, 5}, {y, -3, 3}]

Integrale doppio — 0

fIx_, y_1:=xLog[l+x?+y?];
glr_, t_1:=rf[rCos[t], rSin[t]l; Sinplify[glr, t1]

r?Cos[t] Log[1l+r?]

jg[r,t]dlr

2r 2r% 2AcTan(r] 1
Cos[t] |—-— -+ —r3Log[l+r?]
3 9 3 3
;3
Apart
[1+r2]
r
r,
1+r2

ERENTE

Print [Si nplify[{fﬁ
Lvs_f_zjg[r, t] at dlr}”;

[2r2Log[1+r?], —49—7T+\/?Log[16]}

g[r, t]dt,

~

Numeri complessi — 0

-1
@4

z= — ; {Re[z], Im[z]}

e
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Abs[l/2z]
4

Arg[l/z]

Tt

4

Matrici, autovalori—0

1 k 3
a=[1 2 OJ; Mat ri xFor m[a];
3 el 1

0
X = [1]; Mat ri xFor m[a. x]
0

k
2
el

k =0; el =0; Matri xForm[a]

103
120
301

Ei genval ues[a]

{4, -2, 2}

Ei genvectors[a]

{{2, 1, 2}, {-4, 1, 43, {0, 1, 0}}



